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Topic:- Child Development & Pedagogy (CDP)

1) Autistic children mainly have difficultiesin ____./ Taddr (Gﬁ'ﬁ'%ﬂi) =i | |
HiSAE 1t B

1. Vision / ?@

2. Intelligence / Q@
3. Social interaction / TSI JUH

4. Body movement / ¥ IR iRt

Correct Answer :-

e Social interaction / JrATSTD JUh

2) Applied Behavior Analysis is considered to be a more effective remedial method for:/

SIUgT AaeR fazayu A & e ue siftre guTdt SraRTers faftr ar=r s @:
1. Dyslexia/ f&aifaRyan

2. GDD / SiigIet

3. ADHD / TSIT=Sl

4. ASD/ TTHS!

Correct Answer :-

. ASD/ UUHE!

3) Which of the following is not true about the team teaching method? / A Rrgvrugfa s an &

Frafafea & @ o9 v T8 82



1. Difficulties are faced in maintaining harmony among team members / T & Jedl & o9 qrer CRIY RRGE]
T HST3aN BT I HAT TSl g

2. It is cheaper than other methods of teaching in terms of finances / g fog & deuf A fRreor & 3 fafat ot
I | T ]

3. Teachers get better opportunities for optimal utilization of human resources / HIHd TG1eE & garad ST
& fog Rrere! & TeaR sawR firad

4, It is a highly flexible method of teaching in terms of scheduling/ﬂ?W—ﬁW%WﬁﬁﬁT&m
B TH fAd Tl a8 |

Correct Answer :-

It is cheaper than other methods of teaching in terms of finances / dg fog & dey | fRreur & 3 fafda
&I ga1 H I B |

4) Which of the following elements is there in problem-solving skills?/ fufaf@a s s an
HERT- AR SIRra & 9w 82

1. only the steps to reach the goal / Pad A dH ITIEV?J%[ & TROT
2. only the goal / Had d&d

3. only the problem / Had THXT
4. all of the above/ IURTGd IHt

Correct Answer :-

« all of the above/ IURTad THT

5) A child thinks that because he wants to have pizza for dinner, his parents must want it too. What

type of thinking is this? / T S<aT1 HiadT @ % 9% a8 7 ¥ @M & foe R agar @, @ 9%
Hrar-fuar 91 +ft g} arfee | ug f5g ueR 3 I 82

1. Meta-cognitive thinking / &I (Hel-HHTED) i
2. Egocentric thinking / Wafad GMaft®) fKidq

3. Abstract thinking / 31'11?? fefa

4. Psychotic thinking / ORI (TEPIcH) feide

Correct Answer :-

« Egocentric thinking / Wdiad (TR ®) fKid

6) Learners learn best when / ﬁr&mﬁm 3BT qe drRaa % old



1. they listen to the teacher and obey all classroom rules. / q fRiefe ot a1 ﬂ:ﬁ 8 3R Parm o gyt i &1
UTe Hd g |

2. they understand the lesson and write good notes. / CACLRED FITEI?[ % 3R 3= :h?.’ﬂ forad %I

3. they understand the relevance and are motivated to achieve the learning goal. / J IRl &f FITEI?[ % 3R
SIfATH & T I T R & o IR B B

4. they follow all rules and are quiet in class. / 3 G4 A &7 UTe Hd & 3R Ham H 2id | 8

Correct Answer :-

« they understand the relevance and are motivated to achieve the learning goal. / ERISIUEGICIREER g 3R
ST & & P U R & forg IR g1l 6

7) The seat of Intelligence in human brain is . | 9THa Af&Tss § Tg’@ DT IS gl
1. Brainstem / STCH
2. Cerebellum / 3TARTSH (TRETTH)

3. Cerebrum / THR<TSH (@m

4. Spinal cord / HSGUS (WT3-d HI8)

Correct Answer :-

. Cerebrum / JHIRTSH (@m

8) Which of the following is the best way to increase correct responses and appropriate
behavior? /

we! ufafearsit ok Ifra auasR @t 9 & forg FrafafEa # & o-a1 ged sreo1 afie1 872
1. Punishment / €8

2. Praise / U=

3. Ignorance / S{IITAT

4. Strictness / Il

Correct Answer :-

e Praise / U0

9) Which method is used commonly for the diagnosis and treatment of behavioral problems of
exceptional children? /



STYRU 9] &t AdgR Jdadl gawrefi & e i Iu=aR & forg smadik uR fog fafer
ST AN fhaT ST 82

1. Survey method / Faefor fafdr
2. Case study method / HYg el fafy

3. Observation method / fteror fafdr
4. Experimental method / TANTI fafd

Correct Answer :-

« Case study method / &Y el fafd

10) Which approach believes in teaching reading based on sounds? / Gl & SATYR W US4-

UTeH H P AT e RhI0r Ay vt 32
1. Analytical / fa=eivoIT&e

2. Syllabic/ eI

3. Global / Tdierd

4. Phonic / ®IfA®

Correct Answer :-

« Phonic / BIfA®

11) According to Thompson, children can identify their own gender by the age of/ YT & SR,

T 3(UA WY F ol B TgaH s ST A R TP &
1. Five years/tﬁaaﬁ
2. Two years/apfa'ﬁf

3. Four years / dIR ¥
4. Three years / GIBEL

Correct Answer :-

e Three years / GIEK:L

12) What is the term used to describe a person’s tendency to remember positive rather than negative
experiences?/



THRIHD SFFHAT & T HHRIHD TG IE@ & forg foredt safda 1 ughxi &1 qui= 34 7 fovd ug &1
SUHT far wrar 82

1. Rehearsal effect / anarg guTd
2. Retroactive effect / tlﬁTDEITd)[ UHId
3. Lightbulb effect / dlgcded UHIT

4. Pollyanna effect / QIeiTaT Tt

Correct Answer :-
» Pollyanna effect / ISR

13) What type of memory is sometimes referred to as nondeclarative memory? /

fra TR & Wfa # Fi-FuUR sratvurere Wfa & U A W1 o 82
1. Autobiographical memory / STEART (SHCaRRnhad) F{ﬁ‘f

2. Factual memory / d[HD F:ﬂ%l

3. Short term memory/aﬂ-?ﬂ?ﬁ:[ F:ﬂ%f

4. Procedural memory / Ufhardd Fﬂﬁf

Correct Answer :-

e Procedural memory / Ui ards “\Hﬁ

14) An assessment that is carried out throughout the course is called ./

q€ AT ol X UoUsh & SR fpaTorar e, Pearan gl

1. Formative assessment / IdAIHSD H[h
2. Summative assessment / WW
3. Diagnostic assessment / WW

4. Initial assessment / YRIH® HTHdT

Correct Answer :-

o Formative assessment / IIATHD HTh I

15) Which of the following is not a form of bullying? / Frafafaa # S #1991 seu=ht &1 T &Y g1
82

1. Teasing other children / 3= CEIEDl 33 Al



2. Pushing other children / 310 Sl ol Ydehl ol
3. Mutual exchange of lunches / &9 &1 URTRSB Sadl-aga

4. Insulting other children / g@li’ Sl DT YA HRAT

Correct Answer :-
 Mutual exchange of lunches / @ D URTRS SHaell-agal

16) Which of the following clinical procedures are based in part on classical conditioning?/

fFafafEa & @ w19 W@ A= uftean safiea S w smerid @2
1. Token economy / GG _&"aﬂ:ﬂlﬁf
2. Two chair techniques / ¢ PR dDHID!

3. Transference/ RITATIRT
4. Systematic desensitization / TG ﬁﬁﬂm

Correct Answer :-

 Systematic desensitization / afeyd ﬁﬁﬂw

17) Which chromosome is responsible for determining that the child is born male? /

B 91 UREA g Fufiva & & forg Iaverdt gar @ fob a=n R ergen &2
1.'Y chromosome /'Y TURE
2. C chromosome / C TJ0RIA
3. L chromosome / L T[URIA

4. X chromosome / X T[UIJA

Correct Answer :-
* Y chromosome /Y T[UIRTA

18) If a child has no problems with any schoolwork other than reading and writing, what could he be

diagnosedwith?/mmﬁﬁqﬁmm%mmmwwaﬁﬁmqﬁ
3, a1 39 fru Fefia foran s w82

1. Learning disorder / 3f&TH fdepR
2. Communication disorder / GaR fdBR

3. Mental retardation / ATARIG Hedl



4. Intellectual disability / STfad A&

Correct Answer :-

« Learning disorder / 3O fd®R

19) A child searches for an object where they previously found it even after they know it moved to
another location. This approach is seen because of limitations relating to ./ Th T Uh Q’\‘ﬁ a¥yq
B WIS A1 2, 98T 3 Ued 39 g RIH W A WH F a1¢ oft ura &1 98 =i Q Tefra
Hrrsif & SR G@T ST B |

1. Attachment/ 3FJCTU® (3ICTHT)

2. Egocentrism/ e ( m@m)

3. Conservation/ GX&UT

4. Object permanence / 9] T

Correct Answer :-

» Object permanence / d¥] T

20) Who developed a Psychosexual theory of human development from infancy onward? / AT

A4 3 o1 & T Rigid e faefa fasar
1. Erik Erikson / Qﬁ?ﬁ W

2. Piaget/fﬁ’tﬂﬁ

3. Sigmund Freud / R e

4., Vygotsky / CIEUIRIED

Correct Answer :-

 Sigmund Freud / R s

21) The concept of intelligence is more related to: | SfS® SrayrRUm m 3fYre Tefira 3:
1. Concrete thinking / ‘Cﬁﬂﬂ"lﬂfﬁﬂ?

2. Intuitive thinking / Gg fid=

3. Rational thinking / LEZSUGACGR]

4. Emotional thinking / HTd-TH® feid

Correct Answer :-



« Rational thinking / AHITd fid=

22) Rorchach ink blot test consists of / AT W’Iﬁ AR qﬁ&'l'UT ﬁl’H Jd g1 'Eﬁ?IT %:
1. 10 black cards and 5 coloured cards10 / BT U<l SﬁT 5T T

2. 10 black and 10 white cards / 10 BT 3R 10 Ihe Ul

3. 5 black and white cards and 5 coloured cards/ 5 BTl 3N ﬂ'a’)_d' U SR 5 T o

4. 10 multicoloured cards 10/ EET"F[ T

Correct Answer :-

« 5 black and white cards and 5 coloured cards/ 5 BT 3R ﬂ'a’)_d' U SR 5 T o

23) When failures are punished during childhood, it leads to WASC) SpBadre & ﬁl’E CELEE:]
ERFfSafraraang, Miag_ &l iR A ST B

1. Negative reinforcement / ThRIHD li"lqrﬂ"l

2. Encouragement / Eh_m:ﬂ%:f

3. Persistence / 80

4. Learned helplessness / 3feATH fagrar

Correct Answer :-

« Learned helplessness / 3ferT faa=rar

24) Maturity affects learning because it impacts -/ ufeuerdr SifeRTH & gyTfad St % Fife ag A=
W YT STed o:

1. Motor skills/ WP aﬁ?zm

2. Readiness/ ddddl

3. Cognitive capabilities/ IITTHD REGIE

4. Both motor and cognitive skills/ S HIeR 3R ITHTHD CARI

Correct Answer :-

o Both motor and cognitive skills/ G HieR iR TIHETHSD AR

25) According to the Social Learning Theory, there are 4 necessary conditions for effective modelling.

Attention, retention and reproduction are 3 of these conditions.



Which is the 4™ condition? /

TS R Rigid & AR, TUTH ATsiiT & i 4 smazas =d g1
M, TURV AR Y A3 A 5 |

o =d w2

1. Situation / fRfd

2. Attraction / 3THYUT

3. Imagination / P ¢U-l

4. Motivation / OO

Correct Answer :-

« Motivation / DRI

26) Creating positive classroom culture falls under the domain of : /WEF&ITWI%TW
forafor fo &3 & siaefa smaT 8:

1. Social need / ITHTNI® HTTIEH ]

2. Affective need / HIATAHD TR D d]
3. Psychomotor need mﬂﬁwﬁ HARGhdl
4. Cognitive need /IRITH® TAGDHAT

Correct Answer :-

« Affective need / HIATHD HTARIDH dl

27) Which of the following can be described as a positive reasoning style for failure in achieving success? /

Frafafad 7 S w1 gwaar U 31 # B adl & [T U6 YPRIAS db WLIsd & =0 | givfd
B Jbdl 82

1. Environment problem /ammﬂuﬂﬂw

o

2. Medical and Psychological Reasons/ﬁlﬁ??%ﬂ 3R H"I\Iaﬂll"lcb DRI

3. Difficulty in wriﬁng/@“@qﬁw

4. Lack of Motivation and Interest to put efforts / UHId STaH %%I'QW 3R B BT UG

Correct Answer :-

 Lack of Motivation and Interest to put efforts / UHId SINE %ﬁmﬂw 3R BT BT UG



28) Some parents do not explain the rules but force the child to adhere to them at any cost. This type of
parenting is known as:/

$o gral-fuar ey @1 saren 78 #3d € afe a2 3t fdt o Fiaa W 37T ureH w2 & forg
AOIgR HXd 81 39 PR B W & e wu & S S 8:

1. Permissive Parenting / W e

2. Uninvolved Parenting / Srgafera e

3. Authoritative Parenting / 3MfApTRRE WfeT
4. Authoritarian Parenting/ Frardl U

Correct Answer :-

 Authoritarian Parenting/ rard! Ui

29) Studies in human development take into consideration the period from: / HHd faera A
Y 3 3MafY P = A 1@ 8

1. Conception to adolescence / YT fhemRIaR
2. Birth to adolescence / 57 I forIRTaRAT
3. Birth to death / S J HRUT

4. Conception to death / Ty 3 g

Correct Answer :-

» Conception to death / iy 9§ g

30) CANCELLED

What is the full form of MBIT?/ THAI3TE ! &1 quf =q 71 32
1. Myers-Briggs test instructions / - fore oten A=

2. Myers-Briggs type of indicator / TRRI- o TR dhdd

3. Myers-Bricks type of indicator / A9 TSR ddhdd

4. Myers-Bricks test instructions / A forerd TRAed e

Correct Answer :-
« Myers-Briggs type of indicator / TRRI- 3 TR dhdd

Topic:- General Urdu(L1GU)
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Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:
The New Year has just begun
And I'm feeling great

I'm excited and happy



Looking at this new date

I plan to study hard
To learn to play football
I hope to grow stronger smarter

And become a little more tall

I intend to read more books
From beginning to finish
To understand what is in them

That is my New Year wish

“I hope to grow stronger smarter”’- What is the literary device used here?
1. alliterations

2. simile

3. metaphor

4. onomatopoeia

Correct Answer :-

o alliterations

2) Read the poem carefully and answer the question given below:
The New Year has just begun

And I'm feeling great

I'm excited and happy

Looking at this new date

I plan to study hard
To learn to play football
I hope to grow stronger smarter

And become a little more tall



I intend to read more books
From beginning to finish
To understand what is in them

That is my New Year wish

The speaker was excited looking at the new date because:
1. he had moved to a new school on that day

2. his exams were over

3. because it was the start of a new year

4, he could borrow books from his friend

Correct Answer :-

» because it was the start of a new year

3) Read the poem carefully and answer the question given below:
The New Year has just begun

And I'm feeling great

I'm excited and happy

Looking at this new date

I plan to study hard
To learn to play football
I hope to grow stronger smarter

And become a little more tall

I intend to read more books
From beginning to finish
To understand what is in them

That is my New Year wish

What emotions is the speaker experiencing?

1. anger and irritation



2. happiness and excitement
3. confusion

4. sorrow and depression

Correct Answer :-

» happiness and excitement

4) Read the poem carefully and answer the question given below:
The New Year has just begun

And I'm feeling great

I'm excited and happy

Looking at this new date

I plan to study hard
To learn to play football
I hope to grow stronger smarter

And become a little more tall

I intend to read more books
From beginning to finish
To understand what is in them

That is my New Year wish

The poem tells us that the speaker is:
1. caring

2. optimistic

3. generous

4, carefree

Correct Answer :-

e optimistic



5) Read the passage carefully and answer the question given below:

Flemish artist Crispijn van de Passe II wanted to describe the perfect elephant. The question that
occupied him was whether elephants had an optimal form.

By the year 1620 several elephants had visited the European continent. King Manuel I of Portugal
gifted an elephant named Hanno from India to Pope Leo X in 1510. An elephant named Suleiman
travelled through Spain, Portugal and Italy and died in Vienna in the 1550. He was stuffed and
exhibited in Munich for centuries. A couple of years later, Emmanuel travelled through the Low
Countries and Austria. The list does not dwindle even when we reach Hansken, the elephant
immortalized by Rembrandt, and whose skeleton is still exhibited in Florence’s Museum of Natural
History.

De Passe however was not interested in detailing the features of an elephant from what he had
seen. Instead Passe wanted to construct an ideal elephant using the rules of geometry. Using
squares and circles he created an ideal animal that conformed to the laws of mathematical
proportions and published the results in his book.

What was the task that engaged Crispijn van de Passe II?
1. He wanted to immortalize the elephant

2. He wanted to decode the mathematical laws of proportions
3. He wanted to kill an elephant

4. He wanted to construct an ideal elephant

Correct Answer :-

* He wanted to construct an ideal elephant

6) Read the passage carefully and answer the question given below:

Flemish artist Crispijn van de Passe II wanted to describe the perfect elephant. The question that
occupied him was whether elephants had an optimal form.

By the year 1620 several elephants had visited the European continent. King Manuel I of Portugal
gifted an elephant named Hanno from India to Pope Leo X in 1510. An elephant named Suleiman
travelled through Spain, Portugal and Italy and died in Vienna in the 1550. He was stuffed and
exhibited in Munich for centuries. A couple of years later, Emmanuel travelled through the Low
Countries and Austria. The list does not dwindle even when we reach Hansken, the elephant
immortalized by Rembrandt, and whose skeleton is still exhibited in Florence’s Museum of Natural
History.

De Passe however was not interested in detailing the features of an elephant from what he had
seen. Instead Passe wanted to construct an ideal elephant using the rules of geometry. Using
squares and circles he created an ideal animal that conformed to the laws of mathematical
proportions and published the results in his book.

What is exhibited in Florence’s Museum of Natural History?
1. The list of elephants that visited Europe

2. The picture of Hasken made by Rembrandt



3. The skeleton of Rembrandt

4. The skeleton of an elephant that was pictured by Rembrandt

Correct Answer :-

e The skeleton of an elephant that was pictured by Rembrandt

7) Read the passage carefully and answer the question given below:

Flemish artist Crispijn van de Passe II wanted to describe the perfect elephant. The question that
occupied him was whether elephants had an optimal form.

By the year 1620 several elephants had visited the European continent. King Manuel I of Portugal
gifted an elephant named Hanno from India to Pope Leo X in 1510. An elephant named Suleiman
travelled through Spain, Portugal and Italy and died in Vienna in the 1550. He was stuffed and
exhibited in Munich for centuries. A couple of years later, Emmanuel travelled through the Low
Countries and Austria. The list does not dwindle even when we reach Hansken, the elephant
immortalized by Rembrandt, and whose skeleton is still exhibited in Florence’s Museum of Natural
History.

De Passe however was not interested in detailing the features of an elephant from what he had
seen. Instead Passe wanted to construct an ideal elephant using the rules of geometry. Using
squares and circles he created an ideal animal that conformed to the laws of mathematical
proportions and published the results in his book.

What was the basis for the findings in Crispijn van de passe’s book?
1. Several elephants that had visited the European continent before 1620
2. The rules of geometry

3. Crispijn’s imagination of the ideal elephant

4. Details of the past sightings of the animal

Correct Answer :-

e The rules of geometry

8) Read the passage carefully and answer the question given below:

Flemish artist Crispijn van de Passe II wanted to describe the perfect elephant. The question that
occupied him was whether elephants had an optimal form.

By the year 1620 several elephants had visited the European continent. King Manuel I of Portugal
gifted an elephant named Hanno from India to Pope Leo X in 1510. An elephant named Suleiman
travelled through Spain, Portugal and Italy and died in Vienna in the 1550. He was stuffed and
exhibited in Munich for centuries. A couple of years later, Emmanuel travelled through the Low
Countries and Austria. The list does not dwindle even when we reach Hansken, the elephant
immortalized by Rembrandt, and whose skeleton is still exhibited in Florence’s Museum of Natural
History.



De Passe however was not interested in detailing the features of an elephant from what he had
seen. Instead Passe wanted to construct an ideal elephant using the rules of geometry. Using
squares and circles he created an ideal animal that conformed to the laws of mathematical
proportions and published the results in his book.

Name the elephant that the Portugal King gifted to Pope Leo X.
1. Hasken

2. Suleiman

3. Hanno

4, Emmanuel

Correct Answer :-

¢ Hanno

9) Fill in the blank with the correct option in the given sentence:

Lack of presence of mind will cause absurd-- in all the cases.

1. -tion
2. --ness
3. ity

4. --tive

Correct Answer :-

10) Fill in the blank with the correct option in the given sentence:

When you have several million rupees, you are a -- millionaire.
1. poly -

2. mono-

3. di-

4. multi-

Correct Answer :-

11) Choose the option that best explains the highlighted expression:



The people in the villages in India are known for keeping open house.
1. keep doors open all the time

2. live in a joint family

3. keep houses well ventilated

4. being hospitable and friendly

Correct Answer :-

e being hospitable and friendly

12) Choose the appropriate determiner for the sentence given.
Itseemedasif __ who had gone camping had an adventure story.
1. each

2. none

3. everyone

4. someone

Correct Answer :-

e everyone

13) Fill in the blank with the correct option from those given below:
Rubberisagood

1. insulated

2. insulation

3. insulate

4. insulator

Correct Answer :-

e insulator

14) Which of the following options best combines the two given sentences?

I was the class topper in my class. I was not selected in the interview.

1. Even though | was the class topper in my class, | was not selected in the interview.



2. | was the class topper in my class since | was not selected in the interview.
3. I was the class topper in my class, yet | was selected in the interview.

4. | was not selected in the interview because | was the class topper in my class.

Correct Answer :-
« Even though | was the class topper in my class, | was not selected in the interview.

15) Choose appropriate articles for the given sentence:

Last summer we went on cruise to Caribbean islands where we visited Barbados and St.
Lucia.

1. a, the
2. the, an
3. the, no article required

4. no article required, a

Correct Answer :-

16) Choose the appropriate option that rewrites the given sentence in its active voice.

I was selected as the best creative writer by the Art & Literature Club from all over the world.

1. The Art & Literature Club had selected me as the best creative writer me from all over the world.

2. The Art & Literature Club had been selected by me as the best creative writer me from all over the world.
3. The Art & Literature Club selected me as the best creative writer from all over the world.

4. Art & Literature Club was selecting me as the best creative writer me from all over the world.

Correct Answer :-
e The Art & Literature Club selected me as the best creative writer from all over the world.

17) Choose the appropriate synonym for the highlighted word in the given sentence.
As the baby was ill and crying continuously, Mother had to be vigilant throughout the night.

1. brave

2. rested



3. asleep

4, alert

Correct Answer :-
e alert

18) Choose the appropriate tense from the options given to fill in the blank in the sentence :
The reports from across the state that many districts

1. is showing, is being affecting

2. show, have been affected

3. was showing, had affected

4, has showed, has affected

Correct Answer :-
¢ show, have been affected

19) Choose the appropriate antonym for the highlighted word in the given sentence.

The museum’s permanent collections are kept in a separate room.
1. persistent

2. uninterrupted

3. temporary

4. interminable

Correct Answer :-

e temporary

20) Choose the appropriate pronouns for the following sentence:
Ramu did most of the work although___ was very difficult for____
1.it, it

2. he, him

3. they, his

4. it, him



Correct Answer :-

21) Choose the appropriate prepositions for the given sentence:

An airplane flew _____ the building and the little boy saw it _____ the window.
1. across, in

2. over, through

3. towards, across

4. on, from

Correct Answer :-
» over, through

22) Choose the option that best explains the highlighted expression:

Anil: How did the election go?

Sunil: Very exciting till the last minute. Our candidate proved to be a dark horse.
1. The candidate backed out at the last minute.

2. The candidate is not popular but won.

3. The candidate is popular and won.

4. His candidate lost the election, though he was expected to win.

Correct Answer :-
e The candidate is not popular but won.

23) Choose the option that best transforms the sentence into its Indirect form:

‘What a lovely morning!’ he said.
1. He remarks that it was a lovely morning.
2. He remarked that it was a very lovely morning.

3. He remarks what a lovely morning it is.



4. Did he remark what a lovely morning it was?

Correct Answer :-

e He remarked that it was a very lovely morning.

24) Change the given dialogue into reported speech.
Tina: Where are you going, son?
Son: Mom, I am going to my friend’s house to play.

1. Tina asked her son where he was going. He replied that he was going to his friend’s house to play.

N

. Tina asked her son where he was going. He replied that he went to friend’s house to play.

3. Tina asked her son where he is going. He replied that he is going to his friend’s house to play.

4. Tina asked her son where he went. Son replied that he went to his friend’s house to play.

Correct Answer :-

» Tina asked her son where he was going. He replied that he was going to his friend’s house to play.

25) Choose the right tag:

I had visited my mother in hospital every day, ?
l.am1

2.do1

3. hadn't I

4, aren't I

Correct Answer :-

e hadn'tl

26) Choose the option that substitutes the given phrase appropriately.
A person who takes pleasure in shop lifting

1. Nymphomania

2. Kleptomania

3. Hypomania

4. Mania



Correct Answer :-
* Kleptomania
27) Fillin the blank with the most appropriate preposition from the options given.

Rani of Jhansi fought the freedom of her country.

1. from
2. during
3. since

4, for

Correct Answer :-

» for

28) Choose the most appropriate determiner from the options given below.
hotel did you go to?

1. What

2. Which

3. Why

4, Where

Correct Answer :-
e Which

29) Choose an appropriate modal for the given sentence:

I play for hours in the sun when I was young.
1. could

2. might

3. shall

4. may

Correct Answer :-



30) Read the sentence carefully and choose the option that has an error in it:

During a rain storm, mud rivulets formed on the side of a hill move soil from one place to other.
1. from one place to other.

2. move soil

3. During a rain storm,

4. mud rivulets formed on the side of a hill

Correct Answer :-

« from one place to other.

Topic:- Mathematics (MAT)

1) 3c(a+ b)isa/an ./
3c(a+b)TH ____ Bl

1. algebraic equation / SISTiOrd et
2. monomial polynomial / THUHY SgUG
3. binomial polynomial /WE@’Q’C{

4. trinomial polynomial /WE@W

Correct Answer :-

+ binomial polynomial / fgucid 9gue

2) If the perpendicular distance of a point P from the x-axis is 8 units

and the foot of the perpendicular lies on the negative direction of x-axis, then the point P has: /
Tfe x-31ef T U fig P P deaa gl 8 315 @

3R Aq BT UG x-37&f B BUTHS fo=n R Rya g, di fig P A &'

1. Ordinate = 8 / ®Ifc = 8

2. Abscissa= 8 or -8 / Yol = 8 HYdT -8

3. Abscissa = 8 / Yo =8



4. Abscissa = -8 / o = -8

Correct Answer :-
« Ordinate = 8 /PIfic =38

3) If the CSA of a right circular cone is 12320 sq cm and its base radius is 56 cm, then its height is:
/

Ufe U oid adal WP BT a5 YT e 12320 a7 At T gHeT ur Hieur 56 I B, A gwat
$OE §:

1. 42 cm /42 9t

2. 24 cm /24 9=

3. 40cm / 40 A

4,21 cm /21 9+

Correct Answer :-

e 42 cm /4299t

4) What is predecessor of natural number 1? /
WIpd BT 1 B dad] WS T 82
1.2

2.1

3. no predecessor / B3 Jadd TeAT Ta1 §

4.0

Correct Answer :-

« 1o predecessor / ®13 Ydad! T Tal §

5) Which one of the following is not an objective of scholastic assessment? /
fPrufafaa & @ S1-a1 RgFl $ geaied &1 te I3 78 82

1. Knowledge / 3T

2. Analysis / ICESLII

3. Comprehension / JHI

4. Attitude / TIgRI



Correct Answer :-

« Attitude / TIGRI

6) A regular pentagon has perimeter of 45 cm. What is the length of one side? /
TS JH TAYS &1 URUTT 45 A 31 39 TH Yol B da1s fha-l 82

1. 9 cm/9GHl

2. 9.5 cm/9.5 94t

3. 7.5 cm/7.5 94t

4. 15cm/ 153w

Correct Answer :-

e 9cm/9TH
7 p*+qi-—=*®
If p=—2, q=3, and z= 2, then find the value of P - !
- +Pa—pqz
: O :
I p=-2,q=3,09 =2 & a1 p———— & A A B
- +Pq—pqz
9
1 5
31
2. 2
1
3, 2
4. 19
Correct Answer :-
1
. 5
8) 1 1 2

S i e =
x*—5x+6 x~—T7x+12 =x—6x+8

1. (x-3)



2. (x-2)
3.0

4. (x-4)

Correct Answer :-

e 0
9)
The diagonals of a rectangle PQRS intersect at the point O_If
£POQ = 130° then #ORS =7 |
3gd PQRS & fasol teheay &1 fdg O X wfa=sfed &
&1 afe £POQ = 130°, dd £ORS =?
S .
-FF_'_,_.'-""- i.
P Q
30°
1.
25°
2.
130°
3.
50°
4,

Correct Answer :-

25°
10) . : .
The area of sector of a circle of radius 10 cm and of angle 60° is Al
10 {#T fA==r dar 60° 0T arel U god & AeU@s &7 aTAhd gl
%sq cm / %Eﬁf espa)
1.

157 157
ai sqcm [ gi_cl'cﬁ' aHT

2.



167 167
e sqcm [/ TEI_JT Y
3.

4. 157 sqcm /157 T

Correct Answer :-
157 157
gi sqcm [ gia?‘r AT

11)
Given two right angled triangles PQE_and DEF _such that » Q=30

£2D=30 and QP=DE write the correspondence if triangles are congruent. /

& AT Bje PQR IR DEFSH waR v av §f% £Q =230, .D =30 3k QP=DE
1 afg Perer walorm#A § a1 derdar A &

, ARQP=AFED

, AQPRZADFE

;. APQRADEF

, APQRAEDF

Correct Answer :-

APQR=AEDF
12)
APQR. is an isosceles triangle with PQ=PE._ Altitudes EF and QG are drawn to the sides P(Q and
PR from wvertices K. and (Q If one altitude RF is 3 cm and the base QF. is 5cm then GE= vy

APQR UF HHAGIdATg 3EfeT §. fT@Hd PQ=PR | ofi¥eial RF3IR QG ohf Rwa Q&
7o PQ 3R PR A% dien orar 1 afg v offeid RF 3 &+t § 3 3mar QRS &t
£.arGR=___|

1.4 cm /4 THt

2.3 cm/3 O



3.5cm/5 9

4.6 cm/ 69

Correct Answer :-

e 4cm/4TH

13)
AD is a median of AABC and M is the midpoint of AD._Ifthe area of ABMD is 2.5 cm?, then the
area of AABCis /[

AABC &1 U AIfEG&T AD§ duT AD&T Hedfdg Ml afg ABMD &7 &ai=her 2.5
4H? 8.9 AABC & &5wel 2l

1. 20 cm? / 20 Y2
2.10 cm? / 10 92
3.5 cm? /5 9uP

4.25 cm? /25 Q2

Correct Answer :-

« 10 cm? /10 TH2

14)

R . - - . - .
Anu’s age is E‘d- of her mother’s age If Anu’s age is 12 then mother’s ageis /

3] T 3 3T AT T 3 &1 1/3 §1 AT 31 T 317 12 99 g, ar A & 3 &

1. 36
2.24
3.35

4.30

Correct Answer :-



15)
The length of two trains T1 and T2 are 620 m and 480 m respectively. The length of the freight
train T3 is twice the sum of T1 & T2. Find the time required bwv T3 to cover a post on the

distance

platform if it has a speed of 20 m/s. [time =
speed

gr e T1 ua T2 &1 oas FA 620 Hiex 3R 480 Hex §1 Arcansr T3 & a9
¢ T1 ud T2 & 17 &7 GRET ¢l MG 5T Mid 20 HAIXAFS &, df T3 @1 @
EHIH W Teh ORe & IR oo & [T ATaTS 8T Ad HL?

1. 3 minute 10 seconds / 3 fFFe 10 ¥FS
2. 1 minute 50 seconds / 1 fiFe 50 ¥ S
3. 2 minutes 10 seconds / 2 ffFe 10 &g

4. 2 minutes 40 seconds / 2 fiFE 40 Qs

Correct Answer :-

« 1 minute 50 seconds / 1 e 50 Tbg

16) ; s :
If 3x+;+2=3x; 1=x+3}+1,thenfin.dthevaluenfx:mdy.
3x+y+2 _ 3x-y-1 +3y+1 £ :
gfg T2 _BX 2RI R A xUd y & A A A
1.
K=E=‘V=—5
ey
2.
1 3
LS
3.
4. x=2,y=3

Correct Answer :-



If & and § are the zeroes of the polynomial x% — 5x + k,wherea— f = 1,thenk=__. /
IfE aTa g 9gUG x* —5x +k F qF B8l a—f= 18, dTk=__

1.—5

2.2
3.3

4.6

Correct Answer :-

18) Four figures are plotted on a graph sheet as mentioned in the following table.

Covered area Figure 1 | Figure 2 | Figure 3 Figure 4
Fully-filled 5 g 6 4
squares

Half-filled T _ 2 5
squares

IMore than half 4 4 _ 8

filled squares

Less than half 9 T _ _

filled square

Find the figure with larger area. /

T arfasr 7 aftta ome ofic W I 31es e 7w £
ha] fohar IRT | HhST1 | HTHSI2 | HIhsI3 HihsT 4
aa

qol &9 ¥ #
aar

T 8 T 7 — 2
e F e | 4 4 _ 8
5TY a@dr
3T F wA |9 7 _ -
aat
I &5 &1F &I Hhsl Ald il

]
<]
=
f o9

LA

1. Figure 4 / 3fih Sl 4
2. Figure 2 / 3{1h 3T 2

3. Figure 1/ 3{lSl 1



4. Figure 3 / 3113 3

Correct Answer :-
« Figure 4/ 3fi®sl4

Z _ 4 3 _ 2
19) Find the value of 'k, if ¥~ ~2¥ T 1 jsafactorof 2¥ +*° —14x"+5k+6

4 3 _ 2 2 _ .
-1
1.
2.2
3.1

4.3

Correct Answer :-

20) Find the missing number in the following pattern. /

fFrafafad ted & qu e gra s31

3.7

4. 6

Correct Answer :-

21) Find the difference between the predecessor of 98701 and the successor of 9871. /
98701 & Ydadf 3R 9871 & WRd[ & oI 3R FT J1d BR |

1. 88832

2.2

3. 95000

4. 88828



Correct Answer :-
o 88828

22) Find the GCD of 10, 20, and 30. /

10, 20 3R 30 T HETH JAUTSP (GCD) TTd B3|
1. 10

2. 60

3.15

4. 30

Correct Answer :-

23) A scaled down teaching encounter is known as ./
IYuig (Fhes STa) Rreror ded & &Y | ST A1 31
1. Macro teaching / 9gd 18101 (Hsh! Sifeim)

2. Micro teaching / & TRI&0T (A1geh! i)

3. Mastery teaching / TaT0T fR1&0T (AR i)

4. Model teaching / ATSd fR1&mr (s Afm)

Correct Answer :-

« Micro teaching / G&H fR1&01 GIEEIKEIED)

24) Postulates are assumptions specific to ./
Wiy, faRme @ 3t s@yromg 3

1. trigonometry / IECQIEIT]

2. algebra / CISUIYG

3. geometry / STt

4. arithmetic / 3RO

Correct Answer :-

» geometry / STt



25) ‘Algorithms De numero Indorum’ was a work on Arabic Arithmetic by ./
TAENMRGU ST GANSSRA _ & §RIT 3RT PO W foar a1 & 7|
1. Al Kharkli / 3{¢ @Rt

2. Abil-Wefer / 3fde-athR

3. Omar Khayyam / 3HR G&TH

4. Al-Khwarizmi / SA-TATNGH

Correct Answer :-

o Al-Khwarizmi / 3@-SATRGH]

26) is the ability for a child of two years who is able to distinguish between more and
less things when he/she is fit to consume food. /

3 T & T P &HAT 8 S HISH BT SUHNT HA & forw fhe g w®
P 3R HH el P 9 3R P34 A J&H 2|

1. Understanding of notations / %iahd"l aﬁ HHY

2. Recognition of numbers /Q@Taﬁw

3. Recognition of notations / Hadrd @1 Ugd

4, Innate number sense /W‘v’i@ﬂ@f%{

Correct Answer :-
¢ Innate number sense /W“&i’@cﬂa}fﬂ

27) Rhombus is formed by joining the midpoints of the adjacent sides of a i
F 3maa yeis ¥ uafagsi ot M & wagys a9ar g1
1. Rectangle / 3{1dd

2. Parallelogram / AR ISt

3. Rhombus / FHATY

4, Kite / gail

Correct Answer :-

» Rectangle / 3Ad



28) The mean weight of 7 boys is 45 kg. The weights of 6 of them are

53 kg, 45 kg, 40 kg, 37 kg, 42 kg and 50 kg. Find the weight of the 7th boy. /

7 ISP BT HIH To 45 fHur 81 379 A 6 &1 9w 53 53, 45 1, 40 3, 37 5, 42 fam qur 50
feur 81 73 WSS &1 a9 JId B

1. 42 kg /42 foum
2. 48 kg / 48 fobuT
3. 45 kg / 45 foun

4. 50 kg / 50 fopur

Correct Answer :-

o 48 kg /48 T

29) The degree of the polynomial (2x —8) + (8 — 2x): /

W(Zx—8}+ (8—2x) 75 T7d 2

1.1

30) The action verb for giving examples of different types of sets is ./
fafira ToR & Tl & IR ¢ & fo forarars foran gl

1. classifying / FiffeRor

2. comparing / eIl

3. differentiating / %‘ﬂa_*f

4. listing / WUT

Correct Answer :-

« classifying J ffemRor



2x + 5y =10

The graph of the linear equation is a line which meets the x-axis at the point

-/
¥ @® FHIHRUT 2x + 5y = 10 HT ITW TH ¥@T § o fig TR x-37&f A firear g1
1. (0,2)
2.(1,2)
3.(5,0)
4. (2,5)

Correct Answer :-

32)
Which property is used to equate: /

Tifipd e & e [ qurent o1 v fHar s 8:

i.19 x 13 = 190 + 57

ii. (-34-53)+23=-34+-30

1. 1 - Commutative property, ii - Associative property /1 - EIGIReps) 01, 1 - BEEIN] o7
2. i- Distributive property, ii - Closure property / i - fdaRUTd® 0T, ii - FHTY 0T

3. 1 - Commutative property, ii - Closure property /1 - AT 0T, 11 - FHIGT 0T

4. i - Distributive property, ii - Associative property /i - [EGRUIGAED 0T, i - R REIN T
Correct Answer :-

* 1i- Distributive property, ii - Associative property /i - WW‘IUT, ii - gAR ur

33) Choose the solution for the equation: x+9 =12./
HHIGRL: x+9 = 12 & T BT 97 DL |

1.3

2.4

3.2

4.6

Correct Answer :-

e 3



34) Simon has a rectangular pond of length 210 m and width 165 m. He wants to fence it with 2
rounds of rope at the rate of Rs. 10 per metre. Find the cost of fencing. /

ITSAA & U 210 HIeR ot 3R 165 HeX 1) TP SMAATPR a1 81 98 10 IU8 Ufad v H R A
Tt & 2 RN A 3T IS T A8 8 | TS T B ARTT 91 DL |

1. Rs 15000 / 15000 S0

2. Rs 7500/ 7500 304

3. Rs 6930/ 6930 394

4. Rs 693000 / 693000 TG

Correct Answer :-

« Rs 15000/ 15000 30

35) If the perpendicular distance of a point from y-axis is 4 units, then the point has: /
a3 y-318f ¥ T fog o1 diaad gt 4 3915 o, A g &:

1. y coordinate 4 / y Fa=Ii® 4

2. x coordinate -4 / x FGRI® -4

3. x coordinate 4 / x FG=I® 4

4. x coordinate 4 or -4 / x FIGRI® 4 374aT -4

Correct Answer :-

« x coordinate 4 or -4 / x FIGRI® 4 3{YdT -4

36) If each of (-3,6),(0,3) and (3,0) is a solution of a linear equation

In x and y ,then the equation is: /

e TAP (-3,6),(0,3) T (3,0) TH I Wb THHT x TF y F 5 &, ot Fefiavon &:
1. y=x-3

2. y=x+3

3. x+y=3

4. y+2x=0

Correct Answer :-



37) The area of the triangle whose vertices are P(2,0), Q(5,0) and R(5,2) is: /
I Y &1 & F1d B forge1 =M P2,0), Q(5,0) TE R(5,2) B:

1. 25 units? / 25 SHTS2

2. 6 units? / 6 SHIS>

3. 4 units? / 4 SHIS>
4.3 units? / 3 SHTS2
Correct Answer :-

e 3units? /3 SHIE2

38) Which one of the following points does not lie on the line 2y = 5x-2?/
fafafea & 9 s-9t fig Y1 2y = sx-2 W R T8 82

1. (0-1)

2. (-4,-11)

3. (-2,6)

4.(2,4)

Correct Answer :-

. (-2,6)

39) Which one of the following is not a teaching style? /
fFAafafag & Q@ F19-3 v Reor At T 282
1. Scolding / e

2. Demonstration / LT
3. Inquiry / ST
4. Discovery / 3T

Correct Answer :-

« Scolding / Terea T



40) Which one of the following statements is false about polynomial? /
Frafafad & d 19-91 $y= 9gue & Y § 3 8?2

1. According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x)
and remainder r(x) such that p(x) = g(x)q(x) + r(x), where degree of r(x) = degree of g(x). / fauTsH oA
F SR, YIS §gUe p(x)aﬁﬁa%g(x)@fﬁﬂﬁﬁmﬁlﬁ% I HITH q(x) Td A r(x) 39 YR ST &
o p(x) = g(x) q(x) + r(x), STEl r(x) BT I 2 g(x) BT °T B

2. A polynomial with degree 3 can have a maximum of 3 zeros (roots). / 9Td 3 & Y Uh dgUa T 3ff¥bad 3
ST B A T

3. A polynomial with degree 2 can have a maximum of 2 zeros (roots). / 9Td 2 FANTH § guc T 3fmdad 2
) B 9P 5

4. If the graph of an equation intersects the x-axis at two points, then the equation has 2 zeros (roots). /i U

BT BT AT x-318f DI ) figefl R FHlear g, & s § 2 L () 8 8 1

Correct Answer :-

« According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient
q(x) and remainder r(x) such that p(x) = g(x)q(x) + r(x), where degree of r(x) = degree of g(x). / IELISE
TR & AR, ST SgUS p(x)ﬁaaumg(x)@rﬁmﬁramw% dl HTITHE q(x) TH A r(x) 39
YR AT | fb p(x) = g(x) q(x) + r(x), S|l r(x) T °ld > g(x) H19d B

41) Abscissa is also known as the .
YT (YSIid) S Am QW aFT S g
1. X-axis / X - &

2. Point / fdg

3. Ordinate / Pifc el

4, Y-axis / Y - A&

Correct Answer :-

o X-axis /X - H&

42) Visualizations and drawing conclusion is achieved through the study of ./

HUAT R IGP spd P 3eaa= & u1eAw I ured fohan Sran 2|
1. Analytical Geometry / [ARaSOTA® STt

2. Spatial geometry / ST STIATC

3. Algebra / SISHTfOG



4, Arithmetic / 3BT

Correct Answer :-

o Spatial geometry / T ® sarfafd

43) The length of the rubber tube is 44 cm. If it’s two ends are joined together, then it forms the circle.
The area of circle is: / 39S S B TaTs 44 M 71 A 39 ) SR Tw WY Ss few oira €, <t ag g« s
21 99 &1 &T%d 3:

1. 14 em?/ 14 32
2. 44 cm? / 44 QA2
3. 154 cm?/ 154 92
4. 28 cm?/ 28 Y2
Correct Answer :-

e 154 cm2/ 154 Q2

44) The sum of the digits of a two-digit number is 5. If 9 is subtracted from the number, the digits
interchange their places. Then the unit digit of the number is: /

3 SPTI HRIT & 3] &1 INT 5 2| fe T&I | | 9 YT |rdT 8, df 3 v RH yRafdd s aa 8, at
T BT THTE 3P &

1.2
2.9
3.7

4.6

Correct Answer :-

45) If the perimeter and area of a circle are numerically equal, then the radius of the circle is .

gfe ' gu @l IRfU auT o TeTae S udgaE e, g s e @)
1. 3 units / 3 3PT8
2. 1 unit/ 1 375
3. 4 units / 4 SPTZ



4,2 units/zwrsc

Correct Answer :-

. 2units/23ﬁ":}c

46) “Let no one enter who is ignorant of mathematics” was stated by i
Aford @ i ois A uawras1”  gRISEITAI AT

1. Thales / Jg

2. Pythagoras /m‘swﬂw

3. Enchid / Q:Ilag
4, Plato /@’rﬁ

Correct Answer :-

e Plato / wel

47) The abscissa of the point of intersection of less than ogive and more than ogive is ./

WW(OQW)@WHWWW% W%mﬁgﬁﬂﬁ(abscissa)_%l
1. Mode / dgd®

2. Mean / HI¥A
3. Median / AT
4. None of the above / SIRIad & ﬁé EHi

Correct Answer :-

e Median / ATEHT

48) Find the odd one out. /
fawa g1

1.<

2. =

3.0

4, 2

Correct Answer :-



49) Generalisation of Arithmetic is: /
BTV BT HTHIIHRT B:

1. Algebra ISR

2. Probability/EITﬁﬁT

3. Statistics / TiRAD!

4. Caleulus / PeHad

Correct Answer :-

o Algebra / SrSrTforda

50) A single linear equation in two variables has: /
1. Maximum two solutions / 3@ dH gl g

2. An unique solution / Tsh g B8d

3. Infinitely many solutions / 3{<id g

4. More than 2 but less than 4 solutions / &l ¥ 31 dfds 4 T HH Bd

Correct Answer :-

o Infinitely many solutions / 3/Hd 8

51) 'Let no one who is unacquainted with geometry enter here' is connected with ./
313 ot safea oY s & s 8, wefwdmr AR, S usfa gl

1. The Sophist School / Tfthee hd

2. The Platonic School /WW

(N

3. The First Alexandrian School / T8 3fAidoi[Gd o

4. The lonic School / WW

Correct Answer :-

 The Platonic School /WW



52) Which of the following is considered as undefined term? /

fFrrafafed & 3 A Yyt ug AaFT SITar 82
1. Point/ﬁg

2. Quadrilateral /ﬂﬂﬁiﬁ
3. Circle / 91

4. Prime Number / 3{HTST &7

Correct Answer :-

. Point/ﬁ_gr

53) The author of Lilavathi was: /

deradt & a@® A

1. Brahmagupta / SIlel{ [t
2. Aryabhatta / G'H'lf‘l-l_g’

3. Bhaskaracharya / UG
4. Ramanujan / XTHISIH

Correct Answer :-

» Bhaskaracharya / UG

54) CANCELLED

If P(3,-5) and Q(-3,-6) are two points, then abscissa of P-ordinate of Q
is: / °fg P(3,-5) T Q(-3,-6) & fargl §, At Q & P-FIfe F1 Yyl &:

1.0

2.3

55) CANCELLED



In APQR, £P = 90° and X is the mid- point of PR. The value of QR? — QX? is equal to .
| APQR#A, £P=90° T PR & ALAMEG X 1 QR? — QX? & Il = gl
1. 2PX?
2. 313".5|:'2
3. 413‘.5(2

4, PX~

Correct Answer :-

56) 3m6cm="7?/

3dev 6 Ot = 2

1. 3600 cm / 3600 I
2. 360 cm /360 THt

3. 306 cm / 306 THt

4.30.6 cm/30.6 9Ht

Correct Answer :-
« 306 cm /306 JH

57) A man loses one-third of his money, then wins Rs. 10,then loses one-third of what he has, wins
Rs. 20., and finds that he has exactly what he had in the beginning .What was the amount he
originally had ? /

T 3MTGH AT Y=RIRT $T Th-fagrs gR Sa1 8, fhR 10 TT Siiadr 8, 39P 916 fora=n & 391 va-fags
BR W4T §, 20 ¥ Sfiqdr 8, 3/ 3TF UTH a7 g U-R1RT 8 fora sy o <t 39% ury ga «=af¥ farait
d?

1.Rs.12/ 12308

2. Rs.24 /24 309

3. Rs.48 / 48 34T

4. Rs.36 /36 3T

Correct Answer :-

o Rs.48/48 300



58) If the angles of a triangle are in the ratio 2: 3: 4, then the difference between the smallest and
the largest angle is. /

afe Y & S0 HT FUE 2: 3: 4 B, A GO DI 3R TIQ I8 BV & S BT 3R 7Td B

60°

1.
40

2.
150

3.
0
, 20

Correct Answer :-
400

59) If a regular hexagon is having side of 12 cm , then its areais: /

afe T 9 WY BT YorT 12 7 3, A 30T o €

156v2
1.

256v2
2,

216V3
3,

1293
4,

Correct Answer :-
216V3

60)

Which one of the following expressions is false? /

fFrafafaq # 9 *19-971 e Tad 8?2

a)9999 <1000



b)1052<1025

€)958765>957865
1.Bothaand b/auqdbaHl
2. Only b/%ddb

3. Bothband ¢ /b Td ¢ I

4. Onlya/ma

Correct Answer :-

« Bothaand b/atqdbgHi



